[SURDS — Multiplying and Dividing J

Simplify:

J72 -
Nev

—  Gold

Simplify and give your
answer in the form avb:

Simplify:

V3 xV/2=

Bronze
/Simplifying: \ . o \
Simplify:
V24=4x6=2V6
Note: — V 5 -
Choose the highest factor
which is a square number \/4__ —
\ 1 /L /
V5x+/3=+v15
V5 x5 =V75 =53 —| V5 xV2=
Note: —
NG ) s
4 ) I
Dividing: Simplify:
V15 +4/3=+15 = 3=+5
i AP Y I (L +V2 =
Note: 18 = \/§ =
\ Vasvb=va+b / \ /

\\/1_3X\/—=

Simplify:

V20 =

NG

V125 =
V243 =

-

/Simplify completely:
V7 xV3 x V5 =
VZxV5 xV/3 =

\

Simplify:

V24 xV2+43 =

V48 +/3++/8 =
-




[SURDS — Adding and Subtracting

/Remember: \

V24=V4x6=2V/6
V5 xv/15 =v75 =5v3
V15 +4/3=+15 = 3=+/5

- J

1

Adding in surd form:
42 +3\V2 =72
V8 +/18=2v2 +3vV2=5V2

Note:

4 )

\bx/a+cx/5:(b+c)\/a /

1

Subtracting in surd form:

7V5 - 3v/5 = 44/5

~

Note:

\b\/c_l—c\/a=(b-0)\/a_ /

V32-V18=4V2-3V2 V2 |

Bronze > Silver
Simplify and give your Simplify:
answer in the form avb: \/_ \/_

13 =

V20 = "

V64 ++/2 =

V72 -

- \_

/Simplify: /Simplify:
63 +34/3 = V12 ++/27 =
3v5+2V5 = V32 ++/50 =

\2\/74'4‘\/_2 +\/_ = Q/ﬁ+\/5_=

/Simplify: Simplify:
6\/§ - 4\/_ = \/2_7 -\/1_:
7\/§ - 3 \/_ = \/%-\/1_:

\3\/§ - \/— = K\/ﬁ—\/ll-_:

—>  Gold
Simplify: )
V7 xV3 x V5 =
V28 +v2+7 =
- J
Simplify: N
V125 +/45 ++/20 =
V3+7V3+12 =
Q\/ﬁ+\/ﬁ+\/4_= )
/Simplify: A
V175 - 447 =
3v27-75 =
\BOVIs0 =




